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ON. 11: Muitiply Decimals

ctions: Cor;n'pl'e't'e‘ the_'following SO’LVE problem with your teacher.

_ is helping make costurh_es for the school play. The drama club is pre_senting
spring production in April. Mrs. Carson, the drama club advisor, asked Evie to

3.75 yards of ribbon for trimming some of the costumes. If the ribbon costs
4,00 per yard, what is the total cost of the ribbon?.

Und'erline the question.
This problem is asking me to find

O Identify the facts.
‘Eliminate the unnecessary facts.
List the necessary facts.

Choose an operation or operations.
Write in words what your plan of action will be.

V Estimate your answer.
Carry out your plan.

E : Does your answer make sense?‘(C.ompare ybur ahswer to thé question.)
Is your anéwer reasonable? '(Compare_your answer to the estimate.)

Is your answer accurate? (Chéck. your. erk.)- |
Write your answer |n a com.plet_e sentence. 3
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Name : ' - " Score :

Teacher : - Date -

~ Qrder of Operations .

1) (8+5)2+(8+,2) | - 6) (53- 5%)+( 9 - 5)
2) 4x(8- 2)-.82. 7)) (10+5)2+(12+ 3)
3)(3x4+6%)-5 8) (44- 42)+( 4 + 3)
4) (34- 4)+6-7? 9) (89- 3)+ 2 + 32
5) 3x(8-2)-5" | 10 ) (13x 4 - 62)+ 3
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Name : Score :
Teacher : Date :
Order of Operations

1) (4 +2)2+(10+ 5)

2) (53- 5)+ 3 + 32

3)(7x4-4%)+8

4) (382- 2%)+(-1 + 3)

5) 7x(9+6)-72

6) (55- 5)+ 2 - 32

7)(2+4)+(16+ 8)

8) (49- 5%)+(-1 +7)

9) 4x(14- 5)+ 7°

10) (3x2+6%)-6
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